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Calculus Maximus

\/ - 2
. Wy o=y -
Zh =% \/4 = %2 +\
4. Determine the point(s) at whlch the graph of y* = y* — x* has' either a horizontai or vertical tangeni.
Be sure to label which is which, if either exist.
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5. Find the two points where the curve x* + xy + y* =7 crosses the x-axis, and show that the tangents to
the curve at these points are parallel. What is the common slope of these tangents?
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Calculus Maximus

7. If y* +cosxy-4x =5, find E, yes, that’s é
dy dy
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8. The slope of the tangent is -1 at the point (0,1) on x* —6xy—ky® = a, where k and @ are constants.
The values of the constants a and & are what?
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